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Warning: col ['FR'] missing
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Plot [[' EcFgro’,

"EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [[ setVI _ETcl’

"setVIl _fgRec’, "setVI VN,

"s1SetVI' 1]
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Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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P3

BfiE) | GEBATK (RD) | EBRE (EH/fK) | ERERE (B/R) | XS R

06:25 390 160.0 0.633 [Z=| ThHA@06:25 FKENFEFE (RAfEE:R)
07:00 390 160.0 0.633 (Z=| FmHA@O7:00 KENFEF (CGRAfEEEE)
07:35 390 160.0 0.633 [Z=| FHA@O7:35 KENIZF (CGRAMEREEE)
08:40 390 160.0 0.633 [Z=| ThHA@O8:40 FKENIEF (RAMEE:E)
09:25 390 160.0 0.633 (Z=| FmHA@D9:25 KENFEF (GRAAfERELER)
10:05 390 160.0 0.633 (Z=| FMHA@10:05 KENFEF (GRAMEEE:E)
10:40 390 160.0 0.633 [Z=| THHA@10:40 KEIEFE CGRAMKESE)
11:15 390 160.0 0.633 (Z=| FmHA@11:15 KEIEF CRAMEESE)
11:45 390 160.0 0.633 (Z=| FaHA@11:45 KEIEF CGRAEESE)
12:15 390 160.0 0.633 (Z=| FaHA@12:15 KEIEF CGRAKESR)
12:45 390 160.0 0.633 (Z=| FmHA@12:45 KENIEF CGRAMEREE)
13:15 390 160.0 0.633 (Z=| FmHA@13:15 KENIEF CGRAMEEE)
13:45 390 160.0 0.633 (Z=| FhHA@13:45 KEIEF (CGRAMKESE)
14:15 390 160.0 0.633 (Z=| FHA@14:15 KEIEF CGRAMEESE)
14:50 390 160.0 0.633 (Z=| FmHA@14:50 KENFEF CGRAMEREE)
15:25 390 160.0 0.633 |Z=| FhHR@15:25 KENIZF (RA{ERELEE)
16:05 390 160.0 0.633 [Z=| ThHA@16:05 KEIEFE (GRAMHFESE)
16:55 390 160.0 0.633 (Z=| ThHA@16:55 KENFEF (CGRAAfERELER)
23t 7020.0 (18%) 2880.0 32 KEC: 2080.0, PH: 6.5

FHERECE (2146.0 vs 4625.0) 35




FRV (ml plant-1)

ET (ml/hr/plant)

P3_0, Day=68 (2025-06-12)
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

08:15 390 160.0 0.633 = RRi&e08:15 BHah (RAEEE)
08:45 390 160.0 0. 633 | 1RiRe08:45 B (KREERSE)
09:30 390 160. 0 0. 633 F 1BRi&@09:30 Bal (RAEREE)
10:05 390 160.0 0.633 5| {Ri%@10:05 B3 (FAERSE)
10:40 390 160.0 0. 633 Sl 1Ri%010:40 B3 (RAERSE)
11:10 390 160.0 0. 633 El Rige11:10 B3 (RAERSE)
11:40 390 160.0 0.633 =l Rig011:40 Bz (RAEESE)
12:10 390 160.0 0.633 S Rige12:10 Bz (GRAERSE)
12:40 390 160.0 0.633 El Rige12:40 B3 (RAERSE)
13:15 390 160.0 0.633 5| {Ri%e13:15 Bz (RAERSE)
13:50 390 160.0 0.633 F BRi%e13:50 Bz (GRAEREE)
14:20 390 160.0 0.633 Sl 1Rige14:20 B3 (RAERSE)
14:50 390 160.0 0. 633 F BRige14:50 Bz (GRAERESE)
15:25 390 160.0 0. 633 =l {Rige15:25 B3 (REAERSE)
16:05 390 160.0 0.633 S| 1Rige16:05 B (KRAERSE)
16:55 390 160.0 0. 633 El BRige16:55 Bzl (RAERESE)
23t1] 6240.0 (16%) 2560. 0 32 3KEC: 2080.0, PH: 6.5

large discrepency for begining water status (55:263.0), set to 55 ml.
FEEKECE (2178.0 vs 4755.0) 15




P3_0, Day=67 (2025-06-11)
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P3

BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

08:05 357 160.0 0.633 F[  BRi%e08:05 Bzl (RAEREE)
08:40 357 160.0 0.633 E| {Rige08:40 Bz (KRFAERSE)
09:20 357 160.0 0.633 F BRi%@09:20 Ba1 (RAERE)
10:05 357 160.0 0.633 =l {Ri%010:05 B3 (RAERSE)
10:50 357 160.0 0.633 El 1Ri%010:50 B3 (KRAERSE)
11:20 357 160. 0 0. 633 F BRige11:20 Bz CGRAERESE)
11:55 357 160.0 0. 633 F| {Ri%e11:55 Bz (GRAERSE)
12:30 357 160.0 0.633 =l RiB012:30 Bz (REAEEE)
13:05 357 160. 0 0. 633 F BRi&e13:05 Bz (GRAERESE)
13:40 357 160.0 0.633 = Ri8013:40 Hah (REAEESE)
14:10 357 160.0 0.633 =l Rige14:10 B3 (RAERSE)
14:40 357 160.0 0. 633 El BRige14:40 Bz CGRAEESE)
15:20 357 160.0 0.633 =l RiBe@15:20 Bah (RAEERESE)
16:00 357 160.0 0.633 E {Ri%016:00 B3 (FRAAERSE)
16:45 357 160.0 0. 633 E {Ri%e16:45 B (KRAERSE)
21t 5355.0 (15)%) 2400. 0 32 3KEC: 2080.0, PH: 6.5

large discrepency for begining water status (83:255.0), set to 83 ml.
RE X i3t 8] RECEIR HR k.

BEEIRECE (2199. 0 vs 4633.0)53 5

REXEBL S HEREC/PHETRE, AIRERIMAEELIRTR
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P3

BfiE) | GEBATK (R)) | EBE (EH/fK) | ERERE (B/R) | XS R

06:30 484 160.0 0. 633 FA| {Ri%@06:30 Bz (RkAEESE)
07:20 484 160.0 0.633 [Z=| 1BiBe07:20 Bzh (REERESER)
08:45 484 160.0 0.633 [Z=| 1BRiBe08:45 Bzh (KAL)
10:15 484 160.0 0.633 [Z=| fBRige10:15 Bzh (REERESE)
11:05 484 160.0 0.633 [Z=| Bige11:05 Bzh (REEREE)
11:55 484 160.0 0.633 |Z=| 1Ri&e11:55 Bzl (REAEESE)
12:55 484 160.0 0.633 [Z=| Bige12:55 Bzh (REERESE)
13:40 484 160.0 0.633 [/hfI| 1BRige13:40 Bzh (REERESE)
14:15 484 160.0 0.633 FA| {Ri%e14:15 Bz CGRAERESE)
14:50 484 160.0 0.633 FA| {Ri%@14:50 Bz CGRAERSE)
15:55 484 160.0 0.633 |Z=| 1Ri&e15:55 Bzl (RAERESE)
17:10 484 160.0 0.633 |Z=| 1Ri&e17:10 Bz (GREAEEE)
=it 5808.0 (12:%) 1920.0 32 KEC: 2080.0, PH: 6.5

EREBERTC R IR AR A ZIY (900 vs 390.0))
ZRINLPRIERE369. 0 ml.
H#E[ERECE (2207. 0 vs 4458.0) 135
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P3

BfiE) | GEBATK (RD) | EBRE (EH/f) | ERERE (B/R) | XS R

06:45 469 160.0 0. 633 5| {Ri%e06:45 Bz (KRAERSE)
07:15 469 160.0 0.633 = RRi8007:15 BHah (RAEESE)
08:00 469 160.0 0.633 E|  {Ri%@08:00 Bz (FAERSE)
08:45 469 160.0 0.633 E| {Rige08:45 Bz (KRAERSE)
09:25 469 160.0 0.633 F BRi%e09:25 BE1 (RAEREE)
10:00 469 160.0 0. 633 El 1BRi&@10:00 Bz (GRAEREE)
10:30 469 160.0 0.633 S| 1Ri%010:30 B3 (KRAERSE)
11:00 469 160. 0 0. 633 F BRige11:00 Bz (GRAERESE)
11:30 469 160.0 0. 633 F {Ri%e11:30 Bz (GRAERSE)
12:00 469 160.0 0.633 Sl 1Rige12:00 B3 (RAERSE)
12:35 469 160. 0 0. 633 F BRige12:35 Bz (GRAERESE)
13:15 469 160.0 0.633 =l Rig@13:15 Hah (REAERESE)
13:45 469 160.0 0.633 =l 1Rige13:45 B3 (RAERSE)
14:15 469 160.0 0. 633 El BRige14:15 Bz CGRAEESE)
14:45 469 160.0 0.633 = RiBe14:45 Bz (RS
15:15 469 160.0 0. 633 S {Ri%e15:15 Bz (GRAERSE)
15:45 469 160.0 0. 633 E {Rige15:45 B (RAERSE)
16:20 469 160.0 0. 633 =l RiB016:20 Bz (RAEESE)
17:00 469 160.0 0.633 F[ BRige17:00 Bz CGRAEREEE)
=it 8911.0 (19%) 3040.0 32 KEC: 2080.0, PH: 6.5

EORGEBRBT AR $RAR LY (180 vs 390.0))

BRIASERRIERL74.0 ml. N
FEIHECE (2193.0 vs 4228.0) d 5
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